Best value for money (B): Examiner’s Report
Q1.
 
This question also tested quality of written communication and in this question the correct money notation was required in order to score the final mark. Most candidates were able to correctly work out the price of 60 folders for each company but lost a mark either for inaccurate answers from a correct method or for incorrect money notation where they either omitted the £ sign or did not write their answers to 2 decimal places. Nearly all candidates used the first method shown on the mark scheme. The few candidates that worked out the cost of one folder for each store sometimes gave answers 0.54 and 0.56 and hence lost marks for incorrect money notation.

Q2.
 

Many students were able to successfully deal with this question. Many found the price for petals correctly and showed 4 × 3.90 = 15.6(0). The most common mistake seen was to do 2.95 × 10 and not then deal with the buy one get one free offer by dividing this answer by 2. There, students could not score the communication mark as accuracy was required at this point.
Q3.


This was a question that tested 'quality of written communication'; candidates were also instructed in the question to show all their working. A small minority of candidates did not show their working and were penalised for this. The majority of candidates tackled the question by finding the cost of 30 pens from each shop and then stating their conclusion. Many candidates successfully tackled this problem by listing multiples. Some candidates did not achieve the "C" mark as they did not clearly express their conclusions and simply ticked or circled their choice, which was insufficient. Quite a few students finished this question by circling the part of the question giving info about Shop B instead of writing a conclusion comment – this combined with very poor conclusion statements for many who did attempt to make one suggests that the conclusion aspect of questions like this is a major weakness which really needs to be worked on. A common misconception was to think the prices were per pen and so obtaining 30 × £2 = £60 for shop A and 30 × £3 = £90 for shop B. 
Q4.

Most candidates scored at least 1 or 2 marks here, usually for 9.39 × 10 and correct units in their answer. Mistakes were made, however, by candidates either failing to understand the need to buy just 10 cartridges or assuming that the pack of 3 cartridges could be readily split. So many found the difference between the cost of 4 packs (12 cartridges) and £93.90 and many found the 'cost' of one cartridge from the pack (£24.30 ÷ 3) and added this to the cost of 3 packs. It must be noted here that correct monetary notation is an issue; 9.39 × 10 often became £93.09 which led to unnecessary inaccuracies. 

One independent mark was awarded in this question for correct units; the correct answer of £11.61 often came without. As candidates have become more familiar with 'better buy' type questions, there was evidence that some did not read the question with enough care; many failed to find the difference in prices and some just identified the cheaper option.
Q5.
 

This question was generally very well attempted. Almost all students worked correctly with one table and six chairs. Only a very few realised the cost of the table was the same for all 3 shops and could be ignored. The vast majority gained at least 2 marks and the odd incorrect calculation still allowed 3 marks. Common errors included only using 1 extra chair with Tables-R-Us, getting the wrong number of chairs when using an addition method for the chairs at Fred's Furniture, working out the cost of 12 chairs for Tables 'n Chairs (i.e. using £70 as the cost of one chair) and working out the total cost for comparison and forgetting to add on the cost of the table for one shop. Failure to comment fully on the results of their calculations was the reason for failing to gain the mark for communication.

Q6.

This question was well attempted by most students but only the more able gained full marks. Most were able to show a correct method to calculate 20% and go on to find the cost of using The Nail Company to score 2 marks but then struggled to know how to calculate the cost for The Hammer Company using the special offer correctly. A common incorrect response was to simply ignore the 25 free per 100, arrive at a cost of 64.90 then attempt to deduct from this or to count in multiples of 125 to 625, calculate 5 × 4 × 2.95 = 59.00 and not realise that they had bought too many nails. The weakest students struggled to present their calculation well enough to keep track of their method and often made frequent arithmetic errors. It was less common to see responses from students who were able to find the cost for The Hammer Company but unable to correctly calculate a percentage.

Q7.

There were many excellent answers to this functional skills question. The best and most common approach was to see that there were 3 tins from Paint For You and 10 tins from Paul's Paints. The price, including VAT, for a 2.5 litre tin was then worked out and total prices from the two shops compared. A minority of candidates were not aware that they had to show that whole tins had to be bought and used a unitary type of method, for example by comparing the unit costs of paint from the two shops and then making a recommendation from these. Some candidates when working out the VAT equated 10% to 83p and 20% to £1.66 instead of the correct £1.67. A few took 20% off the £8.35. 

Q8.

Many students scored at least 3 marks in this question and often solutions were fully correct. Although the chosen method for long multiplication was usually appropriate and valid, many arithmetic errors were seen, as was the case when finding 120% of £52.50. Build up methods for finding percentages were popular but often failed to earn any credit through incomplete explanation, e.g. 10% of 52.50 = 52 or = 5.22 were common errors. Students should be advised that the method should be clear, for example they should show that when finding 10% they intend to divide by 10. Some students correctly found 20% of £52.50 but then subtracted instead of adding. Some students assumed £52.50 was the actual price as they did not understand the concept of VAT. Most students subsequently drew a suitable conclusion from their calculations.
1MA1 Practice Tests: Best value for money (short B) mark scheme – Version 1.0 

	

	Question
	Working
	Answer
	Mark
	Notes

	1*
	
	
	Office Deals

with reason 


	4
	M1 for 60 ÷ 20 (= 3) or 60 = 20 × 3 and 60 ÷ 15 (= 4)              or 60 = 15 × 4

M1 for ‘3’ × 10.80  (= 32.4)

M1 for ‘4’ × 8.40    (= 33.6)

C1 for Office Deals and with comparison of two correct figures for total cost with correct money notation e.g. £32.40 < £33.60 e.g. £1.20 less

OR

M1 for 10.8 ÷ 20 (= 0.54)

M1 for 8.40 ÷ 15 (= 0.56)

M1 for showing 60 is multiple of 15 and of 30 e.g. 60 ÷ 20 = 3    or 3 × 20 = 60

C1 for Office Deals and with comparison of two correct figures for cost per folder £0.54 < £0.56   with correct money notation and evidence that 60 is common multiple of both 15 and 20

	2*
	
	
	Greenway

(supported) 


	4
	M1 for 60 ÷ 6 (= 10) and 60 ÷ 15 (= 4)

M1 (dep) for “10”÷2 × 2.95 (= 14.75)

M1 (dep) for “4” × 3.90 (= 15.6)

C1 for Greenway and with comparison of two correct figures for total cost eg 14.75 < 15.6(0)

	3*
	
	
	Shop B

 with working 
	4
	Considering cost of all pens

M1 for a correct start e.g. 30 ÷ 3 or 10 or 3×10 or 30 ÷ 5           or 5 × 6 or 6 or list of at least six multiples of 3 or 5 

M1 for complete correct method to find total cost for shop A or complete correct method to find total cost for shop B               e.g. for A : 30 ÷ 3 × 2 or 10 × 2 or list of multiples of 3 to 30 with (£)20 or 3 × 10 with (£)20                                                          e.g. for B : 30 ÷ 5 × 3 or 6 × 3 or list of multiples of 5 to 30 with (£)18 or 5 × 6 with (£)18

A1 for (£)20 and (£)18

C1 (dep on M1) ft  for statement giving "Shop B" with two comparable figures 

[SC : B1 for (£)18 and (£)20 without working]

OR 

Considering cost of one pen (or could be for 15 pens)

M1 for correct method to find cost of one pen in shop A or correct method to find cost of one pen in shop B

M1 for correct method to find cost of one pen in shop A and correct method to find cost of one pen in shop B

A1 for 66.6...p rounded or truncated to at least 2 sig figs e.g. 66(p) or 67(p) and 60(p)

C1 (dep on M1) ft for statement giving "shop B" with two comparable figures 

[SC : B1 for 66.6...p rounded or truncated to at least 2 sig figs e.g. 66(p) or 67(p) and 60(p) without working]

	4
	
	9.39 × 10 

24.30  × 3 + 9.39

93.90 − 82.29
	£11.61 


	5
	M1 for a correct method to find the most expensive way to buy the 10 cartridges (= 93.90)

M1 for a correct method to find the least expensive way to buy the 10 cartridges (= 82.29)

M1 (dep on M1 scored) for a correct method to find the difference between their least and their most expensive way, provided that both totals are for the cost of  exactly 10 cartridges

A1 for 11.61

B1 (indep) for correct units

	5*
	
	Tables-R-Us

120 + (120 + 2 × 40) = 320

Fred's Furniture

120 + (32 × 6) = 312

Tables 'n Chairs

120 + (3 × 70) = 330
	Fred's Furniture with working
	4
	M1 for correct method to find total cost of chairs (and table)

for at least one shop

M1 for correct method to find total cost of chairs (and table)

for at least two shops

A1 for 3 comparable totals (e.g. chairs  £200, £192, £210 

or table and chairs £320, £312, £330)

C1 (dep on M1) ft for correct statement with shop name from 

comparable figures

	6*
	
	1.2 × (550 ÷ 50)

× £4.15 = £54.78

4 ×£2.95 × 4 + 2 ×£2.95 = £53.10
	Hammer company
	5
	M1 for 20% of a cost in Nail Company, 

e.g. 4.15 × 0.2 (= 0.83) oe

M1(dep) for adding their 20% to their cost, 

e.g. 4.15 × 1.2 (= 4.98) oe

M1 for using special offer in Hammer Company, 

M1 for 4 × 125 and 2 × 25 in Hammer Company oe

C1 for Hammer Company and figures 54.78 [Nail Company] and 53.1(0) [Hammer Company]

	7*
	
	Paint for You 

7.5 ÷ 2.5 = 3 tins

3 
[image: image1.wmf]´

 8.35 = £25.05

25.05 
[image: image2.wmf]´

 1.20 = £30.06

Paul’s paints 

7.5 ÷ 0.75 = 10 tins

10 
[image: image3.wmf]´

 3.15 = £31.50

OR

Paint for You 

8.35
[image: image4.wmf]´

1.20 = £10.02

10.02 ÷ 2.5 = £4.008 per litre

Paul’s Paints 

3.15 ÷ 0.75 = £4.20 per litre

There is no wastage
	Paint for You 

(2.5 litre tins)


	4


	M1 7.5 ÷ 2.5 or 3 seen or 7.5 ÷ 0.75 or 10 seen

M1 8.35 
[image: image5.wmf]´

 1.2(0) oe or 10.02 or "25.05" × 1.2(0) oe

M1 "3" × 8.35 or "3" × "10.02" and “10” × 3.15

C1 for both 30.06  and 31.5(0) and correct conclusion
OR

M1 7.5 ÷ 2.5 or 3 seen or 7.5 ÷ 0.75 or 10 seen

M1 8.35 
[image: image6.wmf]´

 1.2(0) oe or 10.02 or 8.35 ÷ 2.5 × 1.2(0) oe                or 3.34 × 1.2(0) oe

M1 “10.02” ÷ 2.5 or 4.008 or 4.01 and 3.15 ÷ 0.75 or 4.20

C1 for both 4.008 (or 4.01) and 4.2(0) and correct conclusion

OR

M1 7.5 ÷ 2.5 or 3 seen or 7.5 ÷ 0.75 or 10 seen

M1 8.35 
[image: image7.wmf]´

 1.2(0) oe or 10.02

M1 2.5 ÷ 0.75 and  “10.02” ÷ 3.15 

C1 for both 3.3(3.. and 3.1(8...) and correct conclusion

OR any equivalent process using correct methods which leads to two values that can be compared

	8*
	
	   1195

   4780 +

   5975
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	Kirsty’s Plants with correct calculations
	5
	M1 for complete method with relative place value correct. 

Condone 1 multiplication error, addition not necessary.

M1 (dep) for addition of all the appropriate elements of the calculation or digits 5975

M1 for a complete method to find 120% of £52.50

A1 for 59.75 and 63(.00)

C1 (dep on M2) for correct conclusion for their figures

OR

M1 for the start of a method to divide £52.50 by 25, e.g. 2 rem 2 

M1 for a complete method to divide £52.50 by 25, condone one arithmetic error, or digits 21

M1 for a complete method to find 120% of ‘£2.10’

A1 for 2.52

C1 (dep on M2) for correct conclusion for their figures

OR

M1 for a complete method to find 120% of £52.50

M1 for the start of a method to divide ‘63’ by 25, e.g. 2 rem 13

M1 for a complete method to divide ‘63’ by 25, condone one arithmetic error, or digits 252

A1 for 2.52

C1 (dep on M2) for correct conclusion for their figures


National performance data from Results Plus

	
	Original source of questions
	
	
	
	
	Mean score of students achieving grade:

	Qu
	Spec
	Paper
	Session
YYMM
	Qu
	Topic
	Max score
	Mean % all
	Mean

ALL
	A*
	A
	B
	C
	D
	E
	F
	G
	U

	1
	2MB01
	3F
	1311
	Q16
	Ratio
	4
	86
	3.44
	
	
	
	3.85
	3.75
	3.43
	2.72
	1.45
	0.64

	2
	2MB01
	3F
	1506
	Q14
	Ratio
	4
	73
	2.92
	
	
	
	3.78
	3.44
	3.09
	2.35
	1.04
	0.19

	3
	1MA0
	1F
	1306
	Q11
	Ratio
	4
	73
	2.93
	
	
	
	3.76
	3.52
	3.18
	2.66
	1.88
	0.79

	4
	1MA0
	1F
	1411
	Q08
	Money calculations
	4
	83
	3.31
	
	
	
	3.67
	3.51
	3.30
	3.01
	2.51
	1.39

	5
	1MA0
	2F
	1303
	Q11
	Ratio
	5
	57
	2.87
	
	
	
	3.78
	3.23
	2.69
	1.96
	1.18
	0.50

	6
	2MB01
	3F/3H
	1411
	Q08
	Percentages - VAT
	5
	57
	2.86
	3.50
	3.09
	3.62
	4.25
	3.05
	2.10
	2.00
	 
	 

	7
	2MB01
	3F/3H
	1211
	Q08
	Percentages - VAT
	4
	89
	3.54
	3.92
	3.82
	3.66
	3.42
	2.82
	1.72
	1.00
	0.44
	0.12

	8
	1MA0
	1F/1H
	1506
	Q04
	Percentages - VAT
	5
	79
	3.96
	4.81
	4.67
	4.48
	3.84
	2.79
	1.83
	1.04
	0.56
	0.23
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